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Reg. No.

V Semester B.Com./BCTT/LSCM B.Com. (Tourism) Degree Examination,
March/April - 2022

COMMERCE
Costing Methods

(CBCS Scheme RegularlRepeaters)

Paper : 5.4

Time : 3 Hours
Instructions to Candidates:

Maximum Marks: 70

Ansrvers should be written compietely either in Kannada or in English.

Section - A
A$Drl - o

Answer any FIVE sub-questions. Each sub-question carries 2 marks. (5x2=10)

* 6s"ind obQ;oaddn ar$ erod d#'9,i sDd03,. E.9qlood: {,d".d add,: eoddd;.

a) Give the meaning of work uncertified.

'$d>ededoid de.:i' er{rdibn 391.

b) What is job casting ?

aadei dr,l Oearo$ aa{dodde$ ?

c) Mention any two industries where operating costing is used.

6Jo1:F&dFd6a d?s.. dq.gc$db4 erudqlaeR$d otn$oaddo add: d.rmofi'id$4

d) Give the meaning of 'by-products', rvith suitable example.

'erod wd.{rl*i:' aoddedo?Ddq n"g eroa-adddoloood cqrl.
e) What is retention money ?

('rugidraod (Oadca) dee oodded> ?

f) What is 'Escalation Clause' ?

'dQrd (aod) --uidd:' oodded: ?

g) What do you mean by 'abnormal process loss' ?

'erxad>d, 69dD d{ aoddedr r

'1
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[P.T.O.
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Answer any THREE questions. Each question carries 6 marks. (3x6=18)

Briefly explain the different methods of costing.

delpearotoa{d aad eaaddg.bd iqdmn .)doA,.

Annual demand for the component: .9000 units; set-up cost per batch Rs. 900;

carrying cost per unit of production: 2Yo per annuin, manufacturing cost per unit
Rs.90;
Calcu-late: a) Economic Batch Quantity and

b) find out the number of batches to be produced to meet the annual

requirements.

t"od: dd:ad o'aard dead : 9000 fls;drldc, xldoa dal : do.900 ($A riroarl/
.idmdEo); 6a":ird id$ io$dma dq (€,C #&ldEr); 2%, erusaduo d?* dro.900 (€,3

4lt":ddo). * adddgod

a) iaJrdrd eruoa.Jdd'a $d-lae.oddr", oado

b) Ero.hrd deBdgbQ. {OCrlo: sros'r.J6is3$ad bt3* ?bo{) (FDdztr)d9${

dod)&Eoc)o.

The following information relates to Contract No. 971

Particulars Amount (Rs.)

Contract Price 80,00,000

Materials 7,00,000
Labour 5,00,000

Tools & Equipment 5,00,000

Plant 12,00,000

Materials at site 1,00,000
Tools & Equipment at the end 4,50,000
Depreciate Plart @ 5%

Work-in-Progress

Work. Certified 12,00,000
Work Uncertified , 2,00,000
Cash received 10,00,000
Date of comrnencement of conkact OLA6-2A21

Prepare Coltract account as on 3l$ Much 2022.
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* ddf'.J adddd: rb,gii dc.971 dd ,o?,Joe:rd.
DddrlCc drag (dy6.)
rbqdo$ dred 8-0,00,000
Fad>Drl9J 7,00,000
droo 5,00,000
dodd "$4 ie)dddiie"f 5,00,000
o$o$ddc 12,00,000
ededddOj)d naebgdd trogd) 6r;rr6b 1,00,000
dodd drd: dsdddri9 d.,od(31.3.2022 dOJ 4,50,000
od:c$rld r$eOd Jdde 5%

{,il0o$O;$d fern:

{,d>dedoad duj 12,00,000

{,d:aededoid dc;J 2,00,000
rb.gri &eaddood duid dea i0,00,000
Ib6rio1: qdorJd 6aacd 01-06-2021
31.03.2022 du doo/rodcrd ddF-dr xiouoQi,dod rb3ri dc. 971 d a:adoiodl do$aoi,.

A Transport company is running 5 busses between trvo cities which.are 100 Kms
apart. The seating capacilv of each bus is 50 passengers. The actual passengers

A factory producing article 'X' also yields Y and Z as by-products. The Joint cost of
manufacture and subsequent expenses arc as belorv:
Particulars Joint Subsequent Expenses (Rs.)

Expenses X Y Z
(Rs)

Materials 1,00,000 20,000 10,000 5,000
Labour 50,000 15,000 10,000 2,500
Overheads 25,000 5,000 -5,000 2,500
Total 1,75,000 40,000 25;000 10,000
Selling Prices 2,50,000 1,00,000 75,000
Estimated profit on selling price 35% 40% 50%
Show horv you rvould propose to apportion the joint cost of manufacture, under

reverse cost method.

lP.T.O.
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.5.

d,aeR u&dd.

3.tue.deJ "bQ b) r"LD.
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(dD.)

z

5,000

2,500

2,500

10,000

75,000

Fa$Drt$iJ

draO

d:eeid

eioS

;DdcrrlCc

(o"n,)

1,00,000

50,000

25,000

1,75,000

ddraao$d $ticrrldl
XY

20,000

15,000

s,000

40,000

2,50,000

10,000

10,000

5,000

25,000

1,00,000

e"uD

dJaoaa;d deJ

d>oatid ajeJod: &eOd

eoo-oro e>rJ 35% 40% 50%

60[.3 $s.$ril$d] oJrld oe.g do?.$edoudcii &dDo$ $?$r eJoapadd ee-rddO_ 60i.3

sD?$rd$dtr aqlaRdrd d!,3f$e. do$ao:r.

Section - C

a?IJrl - rJ

Answer any THREE questions. Each question carries fourteen marks. (3x14=42)

* €9nd obdoaddo ilra& E d4ll9rl erudo:i. E3'o:ooddra6 d6aiaod erodddc.

7. Product 'A' passes are through tfuee process for completion. For the month ending
December 2021 the following the details:

Particulars Process

Total I tr
Direct materials (Rs.) 74,620 10,000 30,000

Direct labour (Rs.) 2,90,000 2,00,000 40,000

Direct expenses @s.) 75,000 40,000 20,000

Production overhead (Rs.) 15,590 4,350 8,710

Normal loss 3o/o 5%

Sale of scrap per unit @s.) 10 30

Production in units 950 900

1,000 units at Rs. 100 per unit rvere issued to process I..

Prepare process accounts, abnormal loss and abnormal gain account.

m
34,620

50,000

15,000

2t530

t0%
50

830

z"od: runrdcd:{dmer u.id'X' cdi dobolD-ail'Y' d:-e: 'Z' oor,r o'rrd wd6.i1*b

dojnoari;dd. qddd eroti $zsrd 6rzto ddraaotd Bl?,3rd eddrldJ * dddodoad.
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'A' df,ld d>odc-e,fcaJdoD dodzl9 {,!,obdeod tudo dxboarbdd. aio*"'d 2021 d

&orlvaodrdo * dddod aJdr(SJ oql"oaRd.
oddriCc

t,T3J- I tr Itr
ded dzoonil$dsb (do.) 74,62t 10,000 30,000 34,620

d€d d,ao (dra.) 2,90,000 2,00,000 40,000 50'000

ded oz$rilst (dra.) 75,000 40,000 20,000 . 15,000

e,lsJdoa $eei-rilsb (dJo.) 15,590 4,350 8,710 2,534

xaa::S, *4 -- 3% 5% l0%
oarzsrd (scrap) d?oa$d dei
(6.1 dt^lddd) (dra.) 10 30 50

sD6aod dr3diidJ 950 900 830

dc-duddr 100 do.rldod 1,000 +€Jdrl$$4 I de erosodo-a dgo&d OedenAd.
o"coa,do; 69o$os oad dodd a:adiidQ. aado ercd:rd, d{ d:q umetnd, oaqld
arEdiidib, do$)o,rr.

8.

€,9dr?rdr

lP.xo.

A transport service company is running 4 buses between trvo cities, which are 150

Kms apart. Seating capacity of each is 60 passengers. The follorving particulars were
obtained from the books for the month of November 2021.
Wages of drivers, conductors, cleaners Rs. 2,40,000
Diesel, oil etc., Rs. 4,00,000
Salaries of office staff Rs. 1,00,000
Repairs and maintenance Rs. 80,000
Taxes and insurance Rs. 1,60,000
Depieciation Rs. 2,60,000
Interest and other charges Rs. 2,00,000
Actual passengers carried were 90%o of the seating capacity. All the busses run 25
days of the month. Each bus made one round trip;er day. Find out:
Cost per Kilometer and b) Cost per passenger tiloni.t.,z.odr nori ie;sa iodc,, 1s0 ;.a:e. ,rcgicod, odd: ddddg ubd. 4 ufodgd:t-a:osd. d,s zrA,d "f- T*oo1 60 E,oJDd;J. s*-.e;o 2o2t E"xoriop:,* $zerj")sddsr.b iodcd duns.d _i*:,tnoa-;a.rr"" irn &edqDRd. 

-
zoe;dd), ooniaau, h.ri,

"o6d, 
BeeJd, qE-r o - 3-qdr]€dg abFoo (*oo) Rs.2,40,000

*q:eo ,r,a.,oaifr: t&s Rs.4,00,000

Pd& trrq odFdd tu.1,00,000
sod d$+ aab Rs.80,000,.Josv Rs.1,60,000

Rs.2,60,000
uq ;3>* rdd d{flec 

Rs .2,oo,o0o
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dro$Esd.r,d ioaro d,olDddd ioaJ. de. 90 d$, oe- uxbj,.(dJ $od9dO_ 25 odildJiceiox:Jd. Ea ur; oc:i! c,oa> ziJ;# J##,a.rd:.r'd. " J - -a -'-i *"* Qe!' ceu(JJ dnoooeJ il)5,? od) Jdddd dJoen dJ-JdiD
i?# ut d,c t oE$ seertueuord gilwd J)$F &d> b) qio aod: d,oi.-sddte1oea)eorcfri sde));,r)d..J XogirvJ*?cl>ffi;il .J..

A compuny have underlrkcn thc consrnrclion of.a buirding on 0r-07-2020 for Rs.
?r;i,kr1l;rt^c 

dcraits rcgarding conrracr rs on :i-b:_Zo2r are as foltorr.s:
Materials: 

_ 
Amount (Rs)

Direct from supoliers
rroln.sio"... 

JqPy,r\-rD 
25,00,000

Direct labour 5,00,000
oire.t.*n.rr., 25,oo.ooo

Value of ftan-iinstaltea at site 2,00,000
a.aministrliive ;;;.;&eable to the contract ,r,33;333

Y:::::l: retumed to suppliers' zs,oo|luaterrals retumed to storcst'aateriaii;ilffi;irii;'- 5'ooo

AccrueJ dil; hb;""" 22,soo

AccrueJ .rroig.uii" ..rr.nr", 3o,ooo

Sub-c.rntract Ei-i'- '"r""su:' 10,000

work CertiiieJ us upp.or.d ry the architec t 63;33;333Work tlnccrtified at cort
Cash received 90% of r.vork certified '00'000
Charge depreciation@ l5yo p.a., on the value of olant
Prepare: 1) Contract Account and 2) Cuntra.t." A..ornt
e"ocJr dod0o!: 90 sd doaoqbd{i dq.d pdD;;d tucrlo$ ero$Fdib. oiDod
0 I -0 7-2 020 d ccb d /,o o 8* 3 | - 03 -202 | #;F,'. j; ;- ;-s;=;;fr 

'd 
i oil*i5.oi o,i*,,

addddc d,aq (dD.)
xub!,ddc:

bdedddo FJ&:rcl)d crcg, Eaddng)

ir:e n,l x8"ohtud udeeEid f>reJ-z{ilcJ:

Id-cmr:mdorl bcoontud n$DfivJ
dJgrlrl bo6&Rr)d FE*Dddr
i*egaas$acd xed:! rieJ:

drd dnOci! slat (ica35)..

ded 3ld)rrls a'J8 (xo?36)

S;*#e"{,B fJ,o*uro* *u,
-eai*?toxa ;ox

25,00,000
5,00,000

25,00,000
2,00,000

10,00.000
50,000
25,000

5,000
22,504
3 0,000
10,000

3,00,000
60,00,000

?,00,000

9.
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/DCd Oeaddood ddo$erEd dea - {,dned€do,x,d dedd de.90 ddo.

oJ:cd, xaddrlg dreOd idde - -u-J ,S,Z 
tr

JA

1) -Dqri a:ad d)d: (2) d'rg?f'Aia;dd mool)dl doj>DF,.

10. The following expenses were incurred on Job No. l-1234.
(a) Direct Materials Rs. 45,000
(b) Direct Wages:

Department X 25 hours @ Rs. 90 per hour
Departrnent Y 20 hours @ Rs. 50 per hour
Department Z ' 15 hours @ Rs. 80 per hour

(c) Works overheads of these dcpartments were estimated. as under:

Department X Rs. 40,000 for 2,500 working hours
Departonent Y Rs. 60,000 for 3,000 working. hours
Department Z Rs. 30,000 for.2,250 working hours

(d) Office overheads were Rs. 2,00,000 when total direct rvages paid in ail these
departrnents were Rs. 5.00,Ci,0. lt is the practice to recover office expenses as

a percentage of direct rvages.

You are required to calculate the cost of Job No. l-1234 and the price to give a
profrt of 50% on selling price.

dr dddod a)aJ:rddr zrB do, J-123.1 d Xo?,roQtrd.

(a) ded xad:ry2'ldc dra.45,000

(b) ded doO:

eqrEil X 25 ilotJilrb, {,e ilotid do. 90 dod

eqDrl Y 20 rloddsb, ge dodd do. 50 dod

azJalt Z 15 dotizisb, {,e rlot3ri do. 80 dod

(c) de aqlDdll$ roerrrd &eO;{Ad:* dr dddodod ero.rEa) d>doRd.
aqrDil X 2,500 derid rlotirlsd d,a. 40,000

a?tad Y 3,000 derid z'lou3zJeri do. 60,000

a?iDrl Z 2,250 Eafrd dotJilgrl dra. 30,000

(d) di oo_ srpEzirl$ ded doOod: doqd dJa. 5,00,000 decDJd, dqjeo d>ed.rz*d

drr.2,00,000 iiqan$dd. "a&ddrto oaO:r8raod) uod urr:arnd {,aad dqleo

abeeS;^lAQ ded dnOo$ dedaau:ad) {,dneod &ee, don$rbgd.
.rca dei J-r234 d ?"[$.j d?*d$4 6?I'ird *EoEl,]d z3eJo$ dree3 de. 50 ddo", eio?rDo$

ad:dod d>oae,:d dero$dtr dod:&Eoq:o.

lP.T.O.

t_
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11. In manufaeturing the main product EXE, a company processes the resutting waste
material into two by-products Xl & X2. Using the reverse cost methotl, you are

required to prepare a comparative profit and loss statement of &e three products
from the follorving data:

. 'Iotal cost upto separation point was Rs. 1,36,000.

Particulars Main By-Product
Product EXE X-l X-2

Sales (all production) 3,28,000 32,000 48,000
Cost after separation 9,600 14,400
Estimated profit o/o on selling price ? 20% 30%

Estimated selling expenses as a percentage to sales 20% 20% 20%

?"od) dod0ob df,oo erud,qdrd EXE o$d} doboiDilril, $ogd adErdo_ Xl &d)
X2. oou add: erod-ero{d,i9q doi}o$dd. dl ESd dJoq&d &ddilgod &d:>or)

Dt3:r cjapad e@dddl udtudrrod) d:e.:urdrd oa{ ;bd; d--.1a

eJldJ*lrb {, d, ed rtod;"dd dnd ?" uD.r ;Da$ r dro. 1,3 6, 0 00.

eddil$ d>ne)

erDdJ. EXE
dDoE$ (Sodomr erJoErdd) 3,28,000

erusdi1$r d.d.edrlnod doddd aDzjrr
d4 J d

d>oct^ld zJdoi $ed coo--Jro dedoaaod: enql ?

d>oaed ;becJ co6E?1) dedoao-adr d>oaod ;Dz.$r 20%

d$f,sdr* do$)oA.

erud-erodd.'x-1 x-2
32,000 48,000

9,600 14,400

20% 3A%

20% 2A%


